NEWALL

eeeeee(oing to Extremes

Heavy Duty Lathe Kit

Microsxn Cross / Sﬁherosxn Bed Axis

600-81880

Drawings
316-24600
316-24240
316-22420




DRAWING
NUMBER

516-24600

REV.
ISS.

9

086—14080 20off M4x10 CAP HD SCREWS (HEAD FXG TO BRACKET)
104—10110 20ff M4 FLAT WASHER (HEAD FXG TO BRACKET)
086—14380 4off M6x16 SKT CAP SCREWS (BRACKET TO PLATE FXG & PLATE TO M/C FXG.)
104—11120 4off M6 FLAT WASHER (BRACKET TO PLATE FXG & PLATE TO M/C)
086—14390 4off M4x12 SKT GRUB SCREWS (PLATE JACKING POINTS)

/ANCHOR PIN

iUPPORT PIN

DO NOT SCALE

~@ - =1~ THRD ANGLE PROJECTION

IF IN DOUBT ASK

HEAD PLATE 294-35550

ANGLE BRACKET 294-35540

Q0SS SuPE
C

7 \
I I — 1 I I
© (¢)= =(¢ O
SUPPORT LINK
USE PARTS
FROM KIT
Pt.No.600—65320
SCALE END MTG. DETAILS (BOTH ENDS)
MATERIAL /FINISH. SCALE UNLESS OTHERWISE  TOLERANCES:— O DECIMAL PLACES +0.5

"= | ATHE M/C CROSS SLIDER

AXIS ASSY. MICROSYN MK2

STATED: —
DIMENSIONS ARE IN M.M.

1 DECIMAL PLACE 0.2

2 DECIMAL PLACES 10.1
ANGULAR +1°

prawn]M.MISTRY]28/8/98 THS DRAMNG &5 HE PRIPERTY (F SHEET|DRAWING REV
i 316-24600ss) O
REVJSS.[DATE|C.N.NALTERATION APPROVED Leicester E .enall England TE INFORUAION HERNANSONE P RUED | oF | NUMBER ISS.




DRAWING
NUMBER

316-24240

MOUNTING PLATE -

pt.No.ED2768—04 |

M/C BED
REAR

DO NOT SCALE | ~@ - = THRD ANGLE PROJECTION

IF IN DOUBT ASK

086—14400 20off M5x30 SKT CAP SCREWS (HEAD FXG TO MTG PLATE)

018—12—030 4off M6x20 SKT CAP SCREWS (MTG BRKT TO M/C SADDLE & MTG BRKTS TOGETHER)
086—14380 20off M6x16 SKT CAP SCREWS (MTG BRKT TO MOUNTING PLATE)
104—10270 6off M6 FLAT WASHERS (ALL FIXINGS)

SADDLE

N

SCALE OVER 2.5MTR. TO BE
SUPPORTED WITH "SPRIN
LOADED SCALE SUPPORTS”

MOUNTING BRACKETS
pt.No.ED2768—-01

MOUNTING BRACKETS
pt.No.ED2768-10

ED—2722 HEAVY DUTY SCALE SUPPORTS

71

SCALE END MTG. DETAILS

me | ATHE M /C BED

MATERIAL/FINISH.

SCALE

UNLESS OTHERWISE TOLERANCES: - 0 DECIMAL PLACES 0.5
1 DECIMAL PLACE 0.2
2 DECIMAL PLACES 0.1

STATED: —

AXIS ASSY. SPHEROSYN OMENSONS. ARE N WAL BEDkA. FLAGES 401
NENNLL NEASUREMENT SYSTEMS LIMITED.
REVISS.IDATE|C.N.NDAL TERATION o Leicester NIEVIALL England TSR e A 10 ¢ 50 oF | NUMBER 31 6_ 242 40 ISS. O




G| 9160 4)() [ A DO NOT SCALE | ~@) - == THRD ANGLE PROJECTION

IF IN DOUBT ASK

SCALE CLAMP
Pt.No.ED—3132

JACKING PLATE
Pt.No.294—-60650

MOUNTING ANGLE
Pt.No.ED—3133

KIT PART Nos. EP-2722 & EP-2722-D
(USA Part Nos. FXO0HDBR & FXODHDBR)

TITLE. MATERIALFINISH. SCALE | UNLESS OTHERWISE  TOLERANCES:- 0 DECMAL PLACES 205
STATED:- 1 DECIMAL PLACE 0.2
3 [ -5-M[ECNGSSBIKIT PART NOS ADDED. JFD HEAVY DUTY BRKT. KIT MOUNTING AS ABOVE NTS  OECMAL PLAGS a1
2 |30-5-01[ECN0656{JACKING PLATE PtNo CHANGED CW DIMENSIONS ARE IN MM. ANGULAR +°
1 |23-3-98E3038|MOUNTING ANGLE 294-37710 REMOVED  M2RAWN |J.DRIVER) 31-10-95 0L TSI 585 W SHEET [DRAWING . REV.
REV.SS. |DATE |C.N.No| ALTERATION _!5255553] Leicester NEWALL England | & W o 50 10r1 | NUMBER 316 22420 ISS. 5





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


